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E i B % ouT IN [ToTAL| HDCP | NET
= B L &3 43 36 79 8.4 70.6
SR KIF Bt 42 43 85 14.4 70.6
3 fi 5k B 43 43 86 13.2 72.8
4 i #HE F% 48 49 97 24 73
5 fi R Bt 42 49 91 16.8 74.2
B-B A X 60 60 120 36 84
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& B EEA 47 39 86 16.8 69.2
SR Ik S 40 43 83 12 71
3 fi =& H® 51 44 95 22.8 72.2
4 i 12 E 44 38 82 9.6 72.4
5 fi BkH XE 41 37 78 4.8 73.2
B-B A A 58 57 115 28.8 86.2
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B fif K % ouT I N TOTAL| HDCP NET
& B 18k 8GR 37 40 77 7.2 69.8
HEB R (il W3 i) 42 39 81 8.4 72.6
3 fi ED hBY 40 41 81 8.4 72.6
4 i L IESE 44 43 87 14.4 72.6
5 fi UNIIR-4:: 44 49 93 20.4 72.6
B-B Tih X 52 52 104 20.4 83.6
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B fif K % ourT I N TOTAL| HDCP NET
& B TH = 41 43 84 14.4 69.6
HEER Rk FiR 44 45 89 19.2 69.8
3 fi =K Hea 42 47 89 18 71
4 i 5% BE 45 43 88 16.8 71.2
5 fi S )% 39 42 81 8.4 72.6
B-B Nk 5= 57 54 111 28.8 82.2
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B fif K % ourT I N TOTAL| HDCP NET
BB & = 44 43 87 15.6 71.4
SR N=R-t] 43 41 84 12 72
3 fi it FHE 43 41 84 10.8 73.2
4 i i E 46 42 88 14.4 73.6
5 fi =5 R 41 38 79 4.8 74.2
B-B Al B 39 47 86 4.8 81.2




